       CS100J Spring 2004: Project 6 Grading Guide

Scores

·  c and s stand for correctness and style; see table below.

·  Give bonus point(s) for exemplary work.


General


(c0a) benefit rate is always multiplied or divided (not added or subtracted)


(c0b) (**2 points**) specification was unchanged (** 2 points **)
(s0a) proper code indentation

(s0b) using named constants, appropriate comments, and meaningful variable names

(s0c) line length limited to 70 characters

(s0d) appropriate code header comments

(s0e) constants are used instead of hard-coding (ie. aPREDATOR, aPREY instead of 1 or 2)

1.  Predator class

(c1a) Constructor:  calls super() on first line
(c1b) Constructor:  assigns strength and speed

(c1c) hunt():  target Prey dies when Predator successfully hunts it down

(c1d) hunt():  method calls fight method if target animal is a Predator

(c1e) hunt():  Predator only eats or starves once in hunt()

(c1f) eat(): method correctly calls super’s eat method
(c1g) eat(): correctly increments strength only (not speed) 

(c1h) fight() correctly determines winner through toughness comparisons
(c1i) fight() decrements both fighters’ fitness

(c1j) injure(), injured animal takes penalty to strength, speed, and fitness
(c1k) checks for death whenever decrement of fitness takes place

2.   Prey class
(c2a) constructor calls super() on first line

(c2b) constructor assigns strength and speed

(c2c) graze():  Prey only eats or starves once
(c2d) graze():  Prey correctly calls fight() if it encounters a Prey
(c1e) eat() method correctly calls super’s eat method

(c1f) eat() correctly increments speed only (not strength) 

(c1g) fight() correctly determines winner through toughness comparisons

(c1h) fight() decrements both fighters’ fitness by benefit rate

(c1i) checks for death whenever decrement of fitness takes place

3.  Simulator
(c3a) instantiates kingdom correctly – each Animal is instantiated as either a Predator or a Prey 
(c3b) simulate num_iterations number of feeding cycles for all the animals in the kingdom

(c3c) each animal gets assigned a random animal to try and feed on

(c3d) checks that it doesn’t try to feed on itself

** Prey can either starve or look for another Animal if it selects itself

(c3e) if the animal is a Predator, correctly casts the Animal as a Predator and calls hunt()

(c3f) if the animal is a Prey, correctly casts the Animal as a Prey and calls graze()

(c3g) printstate() calls print() for each animal in the kingdom

(c3h) printmasterofkingdom() returns the animal with the highest toughness in the kingdom

(s3a) concise code (no more than two nested ‘for’ loops)
(s3b) output is neat and readble

4.  Matlab
(c4a) eee.m correctly adds one term in each iteration until tol is reached
 (c4b) eee.m contains correct answers at the end of the file for part b)

(c4c) loop.m contains no vectorized code
(c4d) loop.m correctly calculates function values

(c4e) vectorized.m contains only vectorized code

(c4f) vectorized.m correctly calculates function values

(c4g) plot is correct

(s4a) plot is labeled and titled

(s4b) eee.m correctly outputs neatly formatted data
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